1. If f(z) :%Jﬂ/ﬁe—z, find f'(1).
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3. For which 6 and z are the following two equations true?
cos *(cosf) =60  and cos(cos™'z) =z

< and -1<z<1
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—oc0<f<oo and -1 <z <1
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4. The position for the movement of a particle is given by
s = cos(2t — 2) — sin(3t — 3)

where s is measured in feet and t is measured in seconds. Find the acceleration of the
particle after 1 second.

A [Sifetfec s/py= TJsin(2-2) ~3eis(3¢-3)

. 2 feet /sec?

B

C. —1 feet/sec? < _ (24~ i (3t-3
. S (t) "fcos( t 2) +95m( )
E

. 5 feet/sec?

. 0 feet/sec? | S”(i): - Y cos (03 + Fsia (0)



5. Find the slope of the tangent line to the curve
2?2y +Iny =23 —4

at the point (2,1).
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s 1o 2+ Ay Fr 4 %= 3-0
B. 0 2 " 3
C. 2/3 20207 + 2(7’)2('> g;% + ‘.L % = 3(2>1
D. 1 o .
E. [8/9 L/_ +?3‘;L<: lz
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6. If y = a113 ,ﬁnd%atx:%.

A. —-36 ' i
B. [—4/3 _?)1(; -3 +ahqx> sectyx
C. 1/48 ‘
D. 1/36

T —3/ces*x-
E. —1/12




7. Suppose a is a positive number and the tangent line to y = a® atz=1hasa slope of a.
g y :

What is a? T
RS

7= (0 faox)
B. |ve .
C. e? At x=1+
D. In2 '“Z
E. There is no such number a. (a )(Z’l “)(Zy - a

ﬁvx a-= }z ’

Q= @'/z

8. Below is the graph of y = f(z) and its tangent line at (1,1). The tangent line also passes
through (4,0).
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9. Find the derivative of y = gt "=,
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10. The half-life of strontium-90 is 29 years. Suppose we have a 5 mg sample. Find the mass
(in mg) that remains after ¢ years.

A' 0.5629t/ In(5)

B. 0.5¢t(5)/29
C. | 5etn(0:5)/29

D. 529tIn(0.5)

E. 5e29/1n(0.5)



11. Find the equation of the tangent line to y = sinhz at z = In 3.

12.

) 4
A. yzg(x—ln?))—g 9150051&%

4 5

= g — _2 L3 -3
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C. y=3(z —In3) % - 2. - T - 3
D.y= %(m—ln3)+§ I3 ~f,3 L
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E. y:—g(x—ln?))-i—g

A spherical balloon is inflated at the rate of 10 cubic centimeters per second. Find the
rate at which the surface area. is increasing when the surface area is 16 square centimeters.

Hint: Volume of a sphere, V = éi\/;, where S is the surface area.
Yz
A. %cmZ/S éy: _§____. %,9_
. Jr = 4w ot
B. NG cm? /s
_ N pS
C. [10/7 | cm?/s IO TG “5’%
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V7 0S
E. 40v/7 cm/s |0dr = Tt



